sl DI A

DAEJEON METROPOLITAN CITY

ARIHHLETI D=2LH9 M2IXIA

HHEZAAN D=LH9 gt

& =T Dagejeon Confirmed
= 0IS&= Case Routes

200 s

DZLH9 HH &EIXF &S ('21.09.2. 104 J|&=)  zamzin/ 042-270-4039

&

e | meE | wwg | owg HEELIC zza S
5769 Iyl 9.2 1004 =R -EIE IS

5768 OIxHEH 9.2 Fstots F8+ [H& 54608 =HXIT}E 23 4d 5
5767 OIxHEH 9.2 300 NE [H& 5738H =HEIT}; 3 Ad &
5766 OIxHE 9.2 Fshots EE H& 5726%H =HXIT}E 23 4d =
5765 OIXHEH 9.2 10 ER [H& 5726 =HEIT}E 23 Ad 3
5764 Ol xHE 9.2 30 EL [H& 5726 =HEIT}E 23 4d =
5763 OIXHEH 9.2 30 ER [H& 5726 =HEIT}E 23 4d 3
5762 Ol xHe 9.2 30 g3 [H& 5736 =HXIT}t Adl &
5761 OIXHEH 9.2 30 ER Y Mok 2HXIT} 24 4d 3
5760 OIXHH 9.2 30 M3 [HF 5758 ZkXITH 2t Hel &


https://www.daejeon.go.kr/index.do
https://www.daejeon.go.kr/drh/board/boardNormalView.do?ntatcSeq=1380506034&menuSeq=1631&boardId=normal_0096
https://covid.djpmhc.or.kr/
https://anshimcall.ontongdaejeon.kr/main.do
https://www.daejeon.go.kr/corona19/index.do?menuId=0003
https://www.daejeon.go.kr/corona19/index.do?menuId=0005
https://www.daejeon.go.kr/corona19/index.do?menuId=0007
https://www.daejeon.go.kr/corona19/index.do?menuId=0008
https://www.daejeon.go.kr/corona19/index.do?menuId=0011

489
5758
5757
5756
5755
5754
5753
5752
5751
5750
5749
5748
5747
5746
5745
5744
5743
5742
5741
5740
5739
5738
5737
5736
5735
5734
5733
5732
5731
5730
5729
5728

5727

iyl

1pk

Ol xHE

1pkd

OIxHE

1pkd

OIXHEH

1pkd

OIXHEH

OIxHe

I

OIxHe

Ixhe

OIxHe

Ixpe

Ol XHE

Ixpe

ifpyll

ixpe

ipulsl

1pka

Ol XHE

Ixpe

OIxHE

1pkd

OIxHEH

OIxHe

OIXHEH

OIxHe

Ixne

OIxHe

Ixne

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.2

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

40

20

20

30

10

20

30

30

40

20

20

50

20

50

20

40

30

20

20

20

30

10

30

20

40

40

20

20

40

40

O
R

o4

10

0x
44

4

44

H& 5708F& T} 2

OF

FEX

sy

% £

J

& 57209 =HXIT}H 2

[

r

& 5752

picl
a
!
T
I

& 5327

ot
[al
=
e
i

X 57144

picl
al
!
r
m

=2
rx
(2]
~
w
(o2}
rE
ot
[al
=
re
[+

H& 5691H =X}

r

e

X 561689 =

al
pan!
rk
r

=

H& 57294 =t

r=
b}
.

r

SEIES

=
O

M ST 23

[H& 57331 =TTt 2

2]
]

Tor

NS

[H& 57331 =HXIXt 2

[H& 56804 =HXITt 2E



5726

thx

5725

5724

5723

5722

5721

5720

5719

5718

5717

5716

5715

5714

5713

5712

5711

5710

5709

5708

5707

5706

5705

5704

5703

5702

5701

5700

5699

5698

5697

5696

5695

5694

1pkd

Ipulsl

1pkd

1yl

1pkad

1yl

1pkd

1yl

Ixne

Ixne

OIxHe

Ixne

OIXHE

Ixpe

OIXHH

Ixhe

Ol XHH

Ixpe

Ipulsil

Ixpe

1yl

OIxpe

1yl

OIxpe

1yl

OIxHe

Ixne

OIxH

Ixne

OIxH

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

40

10

50

20

50

20

30

30

20

20

50

60

20

20

20

20

20

20

20

10

20

10

20

20

30

20

60

30

40

20

O
4

0t
14

O
1

Ot
1

oM
1

Ot
1

O
R

o4
14

4

Ot

O
14

[H& 56164 =z
SEEIL
X 5663 =HE!

L_
b}
e
r

N
=
£
=
3
=
5

1
o
OfH

i
o
OfH

1M
o
Of

I
o
Of

i
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

i
o
Ot

1
o
O

i
o
Ot

i
o
O

1M
o
Of

1
o
OfH

1M
o
Of

I
o
OfH

i
o
O



5693
thd
5692
5691
5690
5689
5688
5687
5686

5685

5684

5683

5682

5681

5680

5679

5678

5677

5676

5675

5674

5673

5672

5671

5670

5669

5668

5667

5666

5665

5664

5663

5662

5661

Ixpe

uuy

DI

1pka

Ipulsil

1pk

Iyl

1pkd

1yl

1pkd

1yl

1yl

Ixne

OIxHe

Ixne

OIxH

Ixne

Ol XHE

Ixpe

Ol XHH

Ixpe

Ol XHH

1pkd

Ipulsl

OIxpe

1yl

1yl

1yl

OIxHe

1yl

OIxH

Ixne

OIxHe

Ixhe

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

9.1

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

8.31

10

20

20

60

10

20

20

20

10

60

40

10

30

40

10

60

20

40

30

40

40

10

20

20

O

44

=
il
R

=
]
1

10
0x
44

10
0x
14

Ot

[H& 5655H

[H& 54944 =X

[H& 5483

& 56324

& 5636H

TIX} 2k
=
=)
=
ES

=)
ERIARE

i

Ot

I
o
Ot

i
o
O

ik
o
Ot

ik
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

1
o
OfH

1
o
OfH

1M
o
Of

in
o
Ot

1M
o
Of

ihl
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

1
o
O

1
o
O

1M
o
Ot

1
o
OfH

1M
o
Of

1
o
Ot

i
o
Of

ih
o
0t



Kio
Rr

rr
30
O

1Pyl 8.31 40

5659

Kio
Rr

OlxHe 8.31 40

5658

Kio
Rr

rk
Ko

1pka 8.31 30

5657

Kio
Rr

il

Ol XHEH 8.31 50

5656

Kio
Rr

rr
K0

Ixpe 8.31 60

5655

Kio
Rr

rk
Ko

OIxHEH 8.31 40

5654

Kio
Rr

r+
X0
O

IxHe 8.31 40

5653

Kio
Rr

r+
X0
O

OIxHEH 8.31 20

5652

Kio
Rr

il

OIxHE 8.31 40

5651

Kio
Rr

rt
1o

OIXHEH 8.31 10

5650

Kio
Rr

rr
Ko

Ol xHE 8.31 40

5649

Kio
Rr

Ixne 8.31 20

5648

Kio
Rr

il

Ol xHE 8.30 20

5647

Kto
Rr

il

Ixne 8.30 20

5646

Kio
Rr

il

Iyl 8.30 10

5645

Kio

QIxpe 8.30 40

5644

Kio
Rr

il

OlxHe 8.30 10

5643

Kt
Rr

Ixhe 8.30 10

5642

Kio
Rr

OlxHe 8.30 20

5641

Kio
Rr

1pka 8.30 20

5640

Kio
Rr

Ol xHE 8.30 20

5639

Kio
Rr

1pkd 8.30 20

5638

Kio
Rr

l

OIXHE 8.30 20

5637

Kio
Rr

rr
K0

Ixpe 8.30 20

5636

Kio
Rr

il

1l

=
or

OIXHEH 8.30 10

5635

Kio
Rr

il
1

=J
or

OIxpe 8.30 10

5634

Kio
Rr

r+
X0
O

OIXHEH 8.30 20

5633

Kio
Rr

rk
X0
O

Ol xHE 8.30 20

5632

Kio
Rr

OIXHEH 8.30 50

5631

Kio
Rr

rk
ar

Ol xHE 8.30 10

5630

Kto
Rr

r+
X0
O

Ixne 8.30 20

5629

Kio
Rr

Ol xHe 8.30 10

5628



Ad S

NS

ol

e 8.30 10

obZ7

Kio
Wi
Kl
RIgr

Kio
Rr

rk
1o

1pka 8.30 40

5625

Kio
Rr

rk
O

OlxHe 8.30 40

5624

Kio
Rr

T

=d
or

OIXHE 8.30 30

5623

Kio
Rr

Ol XHE 8.30 20

5622

Kio
Rr

™

il
A

=J
or
x|

Ko

=

r
X0
O

1pkd 8.30 40

5621

Kio
Rr

OIXHEH 8.30 20

5620

Kio
Rr

r+
ar

OIxHE 8.30 40

5619

Kio
Rr

OIXHEH 8.30 20

5618

Kio

Ol xHE 8.30 40

5617

Kio
Rr

il

Xt 2

=J

or
7l

[HZ 5528

OIXHEH 8.30 40

5616

Kio
Rr

rk
X0
O

Ol xHE 8.30 20

5615

Kto
Rr

Ixne 8.30 10

5614

Kio
Rr

rr
1o

Ol xHe 8.29 30

5613

Kio
Rr

il

Xt 2

=J

or
k)

& 5387

Ixpe 8.29 10

5612

Kio

Iyl 8.29 50

5611

Kio
Rr

rr
X0
O

Ixpe 8.29 50

5610

Kio
Rr

il

1l

ol

OlxHe 8.29 50

5609

Kio

Rr

1pyld 8.29 30

5608

Kto

Rr

Ol XHeH 8.29 50

5607

Kio

Rr

1pyl 8.29 20

5606

Kto

Rr

OIxHEH 8.29 20 N

5605

Kio

1]pyld 8.29 50

5604

Kio

Rr

OIxHEH 8.29 20 M+

5603

Kio

Rr

rr
OF

1pylsd 8.29 40

5602

Kio

Rr

rr
O

OIxHEH 8.29 50

5601

Kio

Rr

il

1l

=
ar
E

Ko

=

rr
Ko

OIxHeH 8.29 20

5600

Kio

Rr

™

i 5515

r+

OIxHEH 8.29 20

5599

Kio

Rr

rr
o

OIxHeH 8.29 20

5598

Kio

Rr

™

(i 5584

r+

1Pyl 8.29 30

5597

Kio

Rr

™

lHo

X|S&F
e | gog | DIESOH

5596

Kio

Rr

™

OIxh 8.29

5595



6864
5593
5592

5591
5590

5589
5588
5587
5586
5585
5584
5583
5582

5581
5580

5579
5578
5577
5576
5575
5574
5573
5572
5571
5570
5569

5568

5567

5566

5565

5564

X1 Ao

=

1pyd

Ol

1pk

1pyld

1pyld

1Pyl

OIxh

1Pl

1pylsd

Ixne

OIxHe

Ixne

OixHe

Ol XHE

Ol XHE

Ixpe

ipyll

Ixped

iyl

1pka

Ol XHE

Ixpe

OIxHE

OIxpe

OIxHEH

1pkd

1pykd

Ixhe

Ixne

OIxH

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.29

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.28

8.27

8.27

8.27

8.27

8.27

20

40

50

20

20

40

30

30

60

30

50

60

20

Ot

O

4

A4

== 2
SIS

Jm

B=ELEIN

o

(& 55744 =TT} 2

e

ASH
o=

I

l

I\

o

[HE 655874 =HXIT} A

AHSHX
A

fa e

)_
fa

=
=)

(HH 557484 XXt 23

& 53764 =t

[pal
=
re
r

[H& 55744 =HXIT} 2

[

r

18
1o
A
=
Of

& 5536

gicl
al
fan!
rt
rm

& 5575H

It
gl
b
e
I

[HX 5575

gicl
al
=
rk
r

12

ot
@l
=

[ 55324 =hXITt 2

2]
A

Jo
A
=
0fH

1A
[iPas
"t

N I
o o
O (]

ih I
o o
(] [ih]

1 1M 1y 1Y ik 1o 1Y i)
o o o (= o o o o
O Of O Ot 0of4 o Ot (]

1M i
o o
O 0t

e i ik i 1 I i I i I i
o o o o o o o o o o o
Ot o1 Ot o1 Ot o1 Ot o4 Ot o4 Ot

i
o
Ot

1M
o
Ot

1
o
0fH

i
o
Ot

i
o
O



5563
thd
5562

5561

5560

5559

5558

55657

5556

5555

5554

5553

5552

5551

5550

5549

5548

5547

5546

5545

5544

5543

5542

5541

5540

5539

5538

5537

5536

5535

5534

5533

5532

5531

Ixpe
uuy
O1xHEH

Ipulsl

Ol xHE

1pkad

OIXHEH

Ixpe

OIXHEH

1pkd

OIXHEH

OIxHe

Ixne

Ixne

Ixne

OIxH

Ixpe

Ol xHE

Ixpe

ipukl

OIxpe

npuksl

1pkd

OIXHEH

Ixpe

OIXHEH

1pkad

OIXHEH

OIxHe

OIXHEH

OIxHe

Ixne

OIxHe

Ixne

8.27
s
8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.27

20

A

30

50

20

20

20

40

50

50

80

40

30

60

60

20

30

30

30

20

60

30

10

10

50

20

10
0x
44

10
0%
44

=
il
R

10
0x
14

10
0x
44

10
14

>

Ot
1

44

O
R

4

[H& 5474H 2HEIT}E 23
S

[H& 55384 =HXITt 2E

|I>|

[H& 53374 =XITt 2E

[H& 53394 =HXITt 2E

[H& 52618 =Xt 2

& 5237 =HXITt 2E

[H& 52374 =tXIXt 2

[H& 52884 =tXITt 2EH

Hr
10
r
o)
©
rE
picl
=
=
re
o

=
=)

[H& 55008 =HEIT}; 23

[HE 5503t =HXIT} 2He

[H& 55374 =TTt 2E

[ 55374 =TTt 2

[H& 53674 =HXIXt 2

[H& 53824 =TTt 2

[H& 55008 =HXITt 2E

5 S 68 =TT 2

[H& 53109 2HEIT}; &3

N ER=rIN g

r

[ 54894 =tXITt 2

i
o
O

i
o
Ot

ik
o
O

i
o
Ot

I
o
O

i
o
Ot

i
o
O

1M
o
O

1
o
OfH

1
o
OfH

i
o
Ot

1M
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

i
o
Ot

e
o
O

1M
o
Ot

1
o
O

i
o
Ot

1
o
OfH

1M
o
Of

i
o
OfH

i
o
Of

I
o
Ot



5527

5526

5525

5524

5523

5522

5521

5520

5519

5518

5517

5516

5515

5514

5513

5512

5511

5510

5509

5508

5507

5506

5505

5504

5503

5502

5501

5500

5499

5498

OIxpe

Ol XHE

1pkd

OIXHEH

OIxpe

OIxHEH

OIxHe

OIXHEH

OIxHe

Ixne

OixH

I

OIXHE

Ixpe

ifpukl

Ixpe

iyl

1pka

npuksl

1pkd

OIXHE

1pkad

OIXHEH

1pkd

OIXHEH

OIxHe

Ixne

1pk

I

OIxHe

8.27

8.27

8.27

8.27

8.27

8.27

8.27

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

40

20

20

70

20

10

40

30

20

10

20

50

20

70

20

50

50

10

20

20

20

50

60

50

60

20

50

50

50

50

=
1

O
1

T 536ABEIT} 221
SEEIVE=

ThE 54898 SHEIT} 221

T 54638 SHEIT} 22t

[H& 5465 =HXITt 2E

[H& 48654 =TTt 2
[H& 53054 =HXITt 2E
& 557114 =TIt 2
& 51194 =HXITt 2E
& 557118 =Xt 2
& 5378 =HXITt 2E
[H& 5293 =tXIXt 2

[H& 5203 =hXITt 2E

MIZ 8930 =TTt &4H

[H& 53324 =hXIXt 2

[H& 54658 =HEIT} 3
EEIEIVES

[H& 5322 =tXITt 2

[H& 52579 =HXIT}E

I'

i
o
O

I
o
Ot

1M
o
O

i
o
Ot

ik
o
O

i
o
Ot

1
o
O

i
o
Ot

1
o
OfH

1M
o
Of

in
o
Ot

i
o
Of

in
o
OfH

i
o
O

I
o
Ot

i
o
O

I
o
Ot

ik
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

i
o
Ot

e
o
O

i
o
Ot

e
o
O

1M
o
Ot

i
o
OfH

1M
o
O

1
o
Ot

i
o
O



5497
&

5496

5495

5494

5493

5492

5491

5490

5489

5488

5487

5486

5485

5484

5483

5482

5481

5480

5479

5478

5477

5476

5475

5474

5473

5472

5471

5470

5469

5468

5467

5466

5465

rAna

- =
0F =
ox M'E

OfxH

re

Ixpe

Ol xHE

1pkd

Ol XHE

1pk

OIXHEH

OIxpe

OIXHEH

OIxH

Ixne

OIxHe

Ixne

OIxHe

Ixpe

Ol XHE

Ixpe

ipylkl

QIxpe

iyl

IxHe

Ol xHE

1pkd

OIxHE

1pkd

OIXHEH

OIxHe

OIXHEH

1pkad

Ixne

OIxHe

Ixne

A+

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

8.26

20

20

30

10

40

20

10

40

50

30

30

50

40

40

50

50

30

50

10

40

60

20

30

10

10

20

20

20

20

10

50

An

10
0x
44

=
il
1

10
0x
44

0 0L 0L 0w oy owop 8D
T T T T T e I e e e S R Y

10
0x
44

10
0x
44

& 5470 =HXITt 2E

[H& 53984 =tXIXt 2

& 5240 =HXITt 2E

[H& 53764 =HXIXt 2

EIN

12
Tor
O

12

SHEA

=

o

[H& 53764 =TTt 2E
[HE 5444 =tXIT} 2H
[ 54521 =hXITt 2E
[HE 5483t =HXIT} 2H
[ 5428 =tXITt 2
EEIEIUES

[H& 5456 =HXIT}H 2

[

r

& 5456H

It
gl
feu|
e
r

[H& 54564

ficl
[al
pan!
rt
ru

& 5430

It
A
peu
T
3

[H& 5285

gicl
[al
fan|
rk
ru

& 54714

It
[l
b
T
3

[H& 53759 =HXIT}H 2

[

r

SEEIE

[HE 5428 =HXIT} 2He

& 5428 =hXITt 2EH

[HE 5467 =HXIT} 2H

X 54674 =

al
pan!
r
r

=
-

r
picl

G

AN

AStH
o=

Tor
@

At

o4

firg

[HE 5465 =HXIT} 2H

o]
&

Tor

IS

FUTY FAAAKd ALTITIE TIL3d

i



o404 0.Z0 ZU O 0400 S AT o 0085
&3 B2e | ko LT S
5462 8.25 40 IBtEAL B A =
5461 8.25 20 [H& 5419 SHXITt 2 40 3
5460 8.25 30 [HH 5313 SHEIX; 2Ha A =
5459 8.25 20 [H¥ 5326 SHXITt 2t A0 3
5458 825 30 SREFNUNAEMNE
5457 8.25 20 [H& 50204 =HZIXt 23 Al 3
5456 8.25 40 [H& 5200 SHEIX; 2k ERIES
5455 8.25 10 [H& 54008 HEIT; 2+ Hi 5
5454 8.25 40 [HH 5337 SHEITt 2HE eI
5453 8.25 30 [H& 5400 SHEIT; 2+ Ay 5
5452 8.25 20 SR B eI
5451 8.25 50 StEAL B Ay 5
5450 8.25 10 & 5192%H =Xt &EH 4 s
5449 8.25 40 [HE 51928 SHEIT; 2k Ay =
5448 8.25 40 [H& 5376 &HXITt 4l 3
5447 8.25 20 - [HH 5397t SHEIT; 2+ Z =
5446 8.25 20 E e St SR 2 4t s
5445 8.25 40 =37 [HH 5278 SHEIT; 2Ha Z =
5444 8.25 20 ShSp Aatx A B 40 3
5443 8.25 40 43 [HE 5344 SHEIT; 2k Z =
5442 8.25 30 g4 X 53628 =Xt ¢H 40 3
5441 8.25 10 S ) [HH 5362t SHEITG 2k EzFlIES
5440 8.25 B S X 53628 =Xt HH Adl =
5439 8.25 20 [HH 53208 SHEIT; 2+ ERIES
5438 8.25 20 [HH 52388 HEITt 2+ Hi 5
5437 8.25 70 [HH 53438 SHEIT; 2k ERIES
5436 8.25 20 =3 [HH 49448 SHEITH 2HE Ay 5
5435 8.25 40 (=P [HH 52618 SHEIT; 2k eI
5434 8.25 40 = SR B Ay 5
5433 8.25 20 SR B z =
5432 8.25 40 [HH 53188 SHEIt 2+ Ay 5
RA1 Q2R 2N MY RRQ2IH SHXITE e Hal =



5429

5428

5427

5426

5425

5424

5423

5422

5421

5420

5419

5418

5417

5416

5415

5414

5413

5412

5411

5410

5409

5408

5407

5406

5405

5404

5403

5402

5401

5400

5399

l:

J
=)
Mg

Ol xHEH

O1xHH

01 xHEH

Iyl

01 xHEH

1yl

Ol xHEH

1pulsl

1yl

01 xHEH

Ol xHEH

Ol XHEH

OIxHEH

01 xHEH

Ol xHEH

01 xHEH

Ol XHH

Ol xHEH

Ol XHH

01 xHEH

1yl

01 xHEH

1yl

01 xHEH

1yl

Ol xHEH

1yl

Ol xHEH

01 XHEH

Ol XHEH

01 xHEH

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.25

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

8.24

20

20

20

40

20

60

20

20

50

30

50

30

30

70

80

50

70

60

20

40

10

40

30

30

30

Ot

=R

in
o
O

1
o
OfH

1M
o
Of

i
o
Of

1M
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

i
o
O

I
o
Ot

1
o
O

I
o
Ot

ik
o
O

b
o
Ot

I
o
O

i
o
M

in
o
O

1M
o
Ot

in
o
Ot

i
o
Of

in
o
Ot



5398 ksl d_8.24 30 1§££I|(}| AstX At B

E - mEy sme | omn (ST S

5397 | DIt | 824 | 20 | [ EREIE

5396 [ piksl 8.24 40 = 8= 9400 &HXITH &
5395 | O | 824 | 40 S7 | [4H 4848 BT} BR1
5394 OlxHe 8.24 40 o ME 30628 SHXITt 2E
5393 | Ol | 824 | 20 MR N 5316 BET} B
5392 1puksil 8.24 10 M3 [H& 5358 &HXITt 2t
5391 | Ol | 824 | 40 M7 | OhE 53588 ETIT} BE
5390 | DIt | 824 | 40 M7 | OhE 53s8M BT} BE
5389 npukal 8.24 20 N & 5293H =HZXITt LA
5383 | DIt | 824 | 30 7 EREITE

5387 | DI | 824 | HSIOIS M7 S BT pE
5386 | D | 824 | 40 e EREIE

5385 nfpukal 8.24 20 JNE HAstx A B

5384 | O | 824 | 60 MR N 53268 BT} B
5383 npukal 8.24 20 e Astx AL B

5382 | DI | 824 | 50 | QAT X 52028 T B
5381 ksl 8.24 50 =7 [HE 51629 2HXITH &
5380 | O | 824 | 70 S7 | [4H 53250 BAT} B
5379 | O | g24 DTN zo £= HZ T 2
5378 | DI | 824 | 40 | RE7 | [HX 5336H BT 2
5377 OlxHe 8.24 20 44 AstX AL B

5376 | O | 824 | 30 e e BT} 22
5375 | DI | 824 | 40 z7 oI BRI} 221
5374 | O | 824 | 30 57 | OE 53020 I B
5373 OlxHe 8.24 20 =3 [H& 5302 &HXITH &
5372 | DI# | 824 | 30 | Qa7 EREINE

5371 OlxHe 8.24 60 e [H& 51908 &HXITt 2t
5370 npukal 8.24 60 e & 53358 =HZITt A
5369 Ipuksl 8.24 20 e [H& 5334 &HXITt 2t
5368 npukal 8.24 50 e & 5334H =HZITt A
5367 | D | 824 | 40 | R&T | [IY 43218 SIT B
5366 npukal 8.24 20 S HAstxA B

I
o

o4

I
o

o4

i
o

Ot

i
o

o1

i
o

Ot

i
o

o1

ik
o

Ot

i
o

o1

i
o

Ot

1M
o

Of

1
o

o4

1M
o
Of

I
o

o4

i
o

0t



5365 | O | 824 | 20 | M7 | UHd 5364M SEN BA
mE | mws | owuy ey TELLIU B2

5364 | DIt | 8.24 20 T@) St} =

5363 | OI# | 824 | 30 z3 STl E
5362 O] fHe 8.24 40 4 [HH 53379 SHXIT}; 43
5361 | OI# | 824 | 70 987 | [HX 53108 BT
5360 | OIM# | 824 | 30 b 27| 2 HTIT} B
5359 | OIf# | 824 | 50 M7 [HE 5088 BT ma
5358 | OIM# | 824 | 10 e ST Z
5357 | OIHH | 824 | 40 M7 [HE 52364 BT ma
5356 Ol 8.24 20 4 [H&X 5320 =XIX} 2+
5355 OlHe 8.24 50 7 SSIXAL S

5354 | O | 824 | 30 47 SISt 5

5353 | OIMiH | 824 | 20 43 xS HE BT 2R
5352 | Ol | 824 | 40 M7 ChE 5300w BEIT B
5351 Ol xHEH 8.24 20 M3 [H& 5293H SHXIX}; 2t
5350 | DI | 824 | 30 z3 552 87 BT B
5349 | OIMH | 8.23 maqsor 7 [4H 5347 BT A
5348 | DI | 823 | 30 7 [47 53474 BT B
5347 O] fHeH 8.23 30 B SR B

5346 | OIMH | 823 | 20 M7 OHE 53268 BT ma
5345 O] fHeH 8.23 40 =32 SR B
5344 | O | 823 | 40 oK STl E
5343 [ piksl 8.23 50 4 SR B
5342 | MM | 823 | 30 M7 [HE 5209 BT mE
5341 Ol xHH 8.23 20 M= [H&X 5237H = XX} 2
5340 | O | 823 | 40 VER ST 5
5339 Ol 8.23 20 =2 [H&X 5311H =HXIT} 2
5338 Ol 8.23 60 =4 [H& 4801H SHXIX}; 2+
5337 | Ot 823 | 40 =3 ST Z
5336 Ol xHEH 8.23 40 M3 SSIXAL S

5335 | O | 823 | 50 z3 SISt 5
5334 OlxHe 8.23 20 e SSIXAL S

5333 Ixhe 8.23 80 s+ SEIE IS

b
(U]

I
o

o4

e
o

Ot

ik
o

o1

1
o

Ot

i
o

o1

1
o

Ot

i
o

o1

e
o

Ot

i
o

Of

1
o

o4

1M
o

Ot

1
o

o4

i
o

0t

ih
o

o4

I
o

o4

I
o

o4

i
o
O

I
o

o4

ik
o

Ot

I
o

o1

i
o

Ot

I
o

o1

1
o

Ot

i
o

o1

1
o

Ot

i
o

o1

1
o

Ot

1M
o

Of

in
o

o4

1M
o

Ot

1
o

o4



5332
&
5331

5330

5329

5328

5327

5326

5325

5324

5323

5322

5321

5320

5319

5318

5317

5316

5315

5314

5313

5312

5311

5310

5309

5308

5307

5306

5305

5304

5303

5302

5301

5300

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

20

20

30

40

10

30

30

20

20

30

20

20

30

20

30

10

20

30

20

20

40

40

20

20

44

)T

e
I

M=Ew
==

H& 51924 =X}

1

rk

EALE

Jot
r
=
e
r

Ficl
al
!
r
HH

ot
rA
=
re
[+

il
al
pan!
I
r

H =T 2

Fel
I

i
o

Ot

i
o

Ot

i
o

o1

ik
o

Ot

1M
o

o1

e
o

Ot

i
o

o1

i
o

O

1M
o

0t

in
o

o4

1M
o

0t

ih
o

o4

1M
o

Ot

I
o

o4

i
o

Ot

I
o

o4

ik
o

Ot

I
o

o4

i
o

Ot

ik
o

o1

i
o

Ot

ik
o

Ot

1
o

Ot

1M
o

o1

1
o

Ot

1M
o

Of

1
o

o4

1M
o

Ot

in
o

o4

i
o

Ot



T

5298
5297
5296
5295
5294
5293
5292
5291
5290
5289
5288
5287
5286
5285
5284
5283
5282
5281
5280
5279
5278
5277
5276
5275
5274
5273
5272
5271
5270
5269
5268

5267

rann

=
0%
0FE

Byl

OIxpe

Ipulsil

1pkd

1yl

OIxpe

1yl

OIxpe

1yl

OIxHe

Ixne

OIxHe

Ixne

OIxHe

Ixhe

Ol XHE

Ixpe

01 XHH

OIxpe

Ol XHH

IxHe

Ipulsl

1pkd

1yl

1pkd

1pulsl

OIxp

1yl

OIxHe

Ixne

OIxHe

Ixne

A+

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.23

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

8.22

20

20

20

20

50

60

30

40

20

20

20

30

20

40

10

40

30

20

10

40

10

50

20

50

20

10

50

20

40

30

An

r

& 5104H =HXITt 2E

DU
rx
>
=}
rE
ok
gl
e
e

MELT X



0Z00 OTAT = 0.ZZ ZU XTI+ S LTAT S =05
B OERE TR B R amediSmes | S
5264 byl 8.22 40 (=P pn} SR B A =
5263 | O | 822 | 20 M7 OHE 5237w ST B 23l 5
5262 [ piksl 8.22 40 4 St XA B Al 3
5261 | Ol | 822 | 20 oK L BT E 23l 5
5260 | O | 822 | 20 e oIS E 23l 5
5250 | Ol | 822 | 60 =2 ST B 23l 5
5258 | O | 822 | 20 I ST Z 23l &
5257 Ol xHEH 8.22 20 M3 SSIXAL S 2RI S
5256 Ol 8.21 20 =32 [H& 4944H = XIT} 2 Al 3
5255 Ol xHH 8.21 40 M3 [H& 5153H SHXIT}; 2+ Adl =
5254 | O 821 | 10 M OHE 5153 ST B 23l 5
5253 Ol xHEH 8.21 40 M3 [H& 4898H SHXIT} 2t RIS
5252 | Ol | 821 | 40 DT OHE 49448 SHEIT} 31 23l 5
5261 | O | 821 | g0 | mmp oo DU ZOMEEANE o 4
5250 | DI | 821 | 40 OMT | [HH 4820M HTIT B 23l 5
5249 | DIME | 8.21 maq;ror oM | [HX 48204 BT} B 2ol 5
5248 | Ol | 821 | 30 27 4 5247w ST B 23l 5
5247 O] fHe 8.21 50 e SR B Al =
5246 | Ol | 821 | 50 OMT | [HH 4820M BXIT B %3l 5
5245 OIXHEH 8.21 60 M= [H&X 5123H = XX} 2+ Al 3
5244 | O | 821 | 30 oK ST E 23l 5
5243 Ol 8.21 20 4 [H&X 5230 =XIT} 2+ Al 3
5242 | O 821 | 20 M7 O 5235w STt B 23l 5
5241 | O 821 | 40 e ST Z 23l 5
5240 | DM | 821 | 10 =3 ISt E %3l 5
5239 Ol 8.21 20 M= [HH 5071H SHXIX}; 24 Al 3
5238 Ol xHEH 8.21 10 M3 [H& 5153H SHXIX}; 2+ Adl =
5237 | O 821 | 20 oK ST Z 23l 5
5236 | O | 821 | 60 b 27 =TT e 23l 5
5235 | OI¥ | 821 | 30 M7 O 4964w ST B 23l 5
5234 OlxHEH 8.21 50 M3 [H& 5235 SHXIT}; o4& RIS



5233

&

5232

5231

5230

5229

5228

5227

5226

5225

5224

5223

5222

5221

5220

5219

5218

5217

5216

5215

5214

5213

5212

5211

5210

5209

5208

5207

5206

5205

5204

5203

5202

5201

OIXHEH

OIxpe

OIXHEH

OIxpe

OIXHEH

1pykd

Ixne

1pk

OIxH

OIxHe

Ixpe

Ol XHE

Ixpe

ipyll

1pka

iyl

1pka

OIXHE

Ixpe

OIxHE

1pkd

OIxHEH

1pkd

OIXHEH

OIxHe

I

OIxHe

Ixne

10 oo
Rl )

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.20

8.19

8.19

8.19

8.19

8.19

20

30

40

50

50

30

20

20

30

60

10

20

20

20

40

40

50

60

20

50

60

20

50

40

10

10
0x
44

10
0x
44

10
0x
44

10
0x
44

SEEJUE-

[H& 4660 =TIt 2E

[HE 51478 =HXIT} 2H

& 51048 =X 2E

[HE 46418 =HXIT} 2H

[H& 5188 =HXIXt 2E

& 51729 =HEIT}

r

e

[H& 5188

Jok
rA
e
e
]

& 5188H

It
rA
feu
e
3

[HX 5188

Jok
rA
el
e
]

& 51884 =+

I'ﬁ
b
e
e

12

StEA

=

o

12

SHE At

Ot

HIZ 893 =HXITt 2+

73 5
ZXIAFS
72 5
73 5
72 5
73 5
7l 5
73 5
7l 5
73 5
#l 5
7 5
73 &
72 5
7 5
#2
LIRS
A3
RIS
A2 5
73 5
72 5
73 5
72
73 5
7l 5
73 5
A3l 5
73 5
Al 5
=TS
73 5
A3 5
73 5



5200

thx

5199

5198

5197

5196

5195

5194

5193

5192

5191

5190

5189

5188

5187

5186

5185

5184

5183

5182

5181

5180

5179

5178

5177

5176

5175

5174

5173

5172

5171

5170

5169

5168

OIxpe

Iyl

1pkd

1yl

1pkad

1yl

OIxHe

1yl

OIxHe

Ixhe

OixHe

I

OIxHe

Ol XHE

ifpukl

Ixpe

ifpyll

Ixpe

Ol xHE

Ixpe

OIXHE

Ixpe

Ol xHEH

1pkd

OIXHEH

1pykd

Ixne

OIxH

Ixne

OIxH

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

8.19

60

60

10

20

40

50

40

60

10

50

20

10

10

40

10

10

20

20

20

30

20

10

20

20

20

10
%
14

=
il
RN

=
1a
14

=
il
RN

10
0x
44

10
0x
44

10
0x
44

10
0%
14

10
0x
44

0t
14

O
R

Ot
1

O
1

0
1

O
1

44

Of

O
14

O
R

O
1

O
RN

[H& 49441 =tXITH 2

& 51194 =hXITt 2EH

[HE 48661 =HZIX} 2HE

& 51279 =XIT 2EH

[HE 5063 =HZIT} 2He

& 51194 =hXITt 2E

H3| 5
ESE
A2 5
H3| 5
eEIES
H3| 5
A2 5
A2 5
e<EIES
A2 5
A3 5
EEIES
H3 5
A2 5
H3 5
A2 5
H3 5
H3 5
H3| 5
A2 5
H3| 5
A2 5
H3| 5
A2 5
A2 5
A2 5
A2 5
eEIES
%2 5
e<EIES
A2 5
H3 5
A2 5
EEIES



I
o

o1

I
o

o1

5167 8.19 30 [H& 51079 2HEIT}E 23
T sy o B

5166 8.19 40 [H& 4904H =HZITH £+
5165 8.19 70 & 49564 =HZIXt A
5164 8.19 70 =85 1955 HE
5163 819 | 60 £ M 51228 ST 2
5162 Iyl 8.19 50 ERT [H& 51558 2HZITt &+EH
5161 | DIfi# | 819 | 20 537 NE 2 ST Bt
5160 Ipulsl 8.19 40 s & 51315 =TI &+
5159 iyl 8.19 40 =5 [H& 51378 =HXIT};
5158 Iyl 8.19 20 Fd+ AstxAL F
5157 iyl 8.19 50 =R EEEIN S
5156 Iyl 8.19 60 ER X 51079 It &+
5155 iyl 8.19 50 ey EEEIN S
5154 | DIfi# | 819 | 60 MF | DHE 3042 ST B
5153 ifpukal 8.19 40 M3 EEEIN S
5152 | DIt | 819 | 30 43 ST E
5151 1puksil 8.19 30 M3 [H& 51508 =TIt £+
5150 | DI# | 819 | 40 £ ISHEA E
5149 O1xHEH 8.19 60 INE ASIXA B
5148 | DIfH | 819 | 10 MBI 201 466 SEIT B
5147 O1xHEH 8.18 30 F44 & 51079 =TIt &+EH
5146 DIf# | 818 | 60 43 SHEA B
5145 Iyl 8.18 40 == & 51198 =HZITt &3
5144 | DI# | 818 | 10 ST | CHE 51198 ST} B
5143 Iyl 8.18 20 == ST
s142 | DIf# | 818 | 20 =3 DH% 5009 ST 2
5141 1yl 8.18 50 s [H& 49338 =HZITt &+
5140 iyl 8.18 60 EE MIZ 7838 =HEITH &
5139 Iyl 8.18 60 == [H& 5094H =HZITt &+
5138 ifpukal 8.18 20 Y3 H& 47169 =HEITE 23
5137 Iyl 8.18 40 e EEEN S
5136 ipukal 8.18 60 =3 [H& 5094H =HEIT}; A
5135 | OIi# | 818 | 40 7| OHX 50948 BHRIT} 221

ik
o

Ot

i
o

0of1

1
o

Ot

i
o

o1

1
o

Ot

1M
o

Of

1
o

o4

1M
o

Ot

1
o

o4

i
o

0t

I
o

o4

i
o

Ot

I
o

o4

i
o

Ot

I
o

o4

ik
o

Ot

I
o

o1

i
o

Ot

I
o

o1

ik
o

Ot

i
o

o1

e
o

Ot

1M
o

o1

1
o

Ot

1M
o

Of

i
o

o4

1M
o

0t

1
o

o4



5134
&

5133

5132

5131

5130

5129

5128

5127

5126

5125

5124

5123

5122

5121

5120

5119

5118

5117

5116

5115

5114

5113

5112

5111

5110

5109

5108

5107

5106

5105

5104

5103

5102

=
0E=
oxrE

1Pyl

Ipulsl

1pkad

1yl

OIxpe

I XHEH

1pkad

Ol xHEH

OIxHe

Ol xHEH

OIxHe

Ixne

OIxH

Ixpe

Ol XHE

Ixpe

Iyl

Ixhe

Iyl

Ixpe

Ipulsil

Ixpe

Ol XHEH

1pkd

Ol xHEH

1pkd

01 xHEH

OIxHe

Ixne

OIxHe

Ixne

OIxHe

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

8.18

10

10

40

10

20

50

40

50

20

30

20

20

40

60

30

50

20

10

20

60

Ot
14

O
R

Ot
1

10
0x
44

10 10 40 10 10 10 =2 10 = o 10 =
0x 0x 0x 0x 0x 0x i 0x i 0% in
14 A 14 A 1 4 1 RN RN 44

44

10
0x
14

Of

4

44

[H& 4853

[ 50948 SHXIX} 2HE

12
o
A
=
Ot

12
1o
4
=
Ot

o

[HE 46498 SHXIX} 22

i

[HE 50508 HHEIT B2
THE 50048 SHEITH 22
THE 510718 SHEIT B2
THE 51014 SHEIT 22
A 50994 SHEIX} T2



Ad S

40

e 8.18

5101

Kio
Rr

1pka 8.18 10

5099

Kio
Rr

40

npuksl 8.17

5098

Kio
Rr

il

1pkd 8.17

5097

Kio
Rr

il
1l

ol

LHo
80
i)
Klo

OIXHE 8.17 50

5096

Kio
Rr

Gl

Xt 2

]

ar
k)

& 5064

OIxpe 8.17 50

5095

Kio
Rr

OIXHEH 8.17 50

5094

ESE;

Kio

OIXHEH 8.17

5093

LHo

Kio

OIXHEH 8.17 30

5092

Kio
Rr

il

Xt 2

<J

ar
o

& 5062

OIxHE 8.17 20

5091

Kto
Rr

il

OIXHEH 8.17 30

5090

Kio

40

OIxHe 8.17

5089

Kto
Rr

Ixne 8.17 20

5088

QIS0

Kto
Rr

il

Xt 2

=J

or
7l

& 5051

Ixpe 8.17

5087

lHo

Kio
Rr

il

Xt 2

=]

or
7l

& 5051

Ixpe 8.17 30

5086

Ixpe 8.17 30

5085

Kto
Rr

rr
X0
O

Ixpe 8.17 30

5084

Kio
Rr

rk
X0
Ok

OlxHe 8.17 20

5083

Kio
Rr

rr
ar

Ixpe 8.17 20

5082

Kio
Rr

40

npuksl 8.17

5081

aIx=tor

Kio
Rr

ml

& 4694H =tXIT} 24

Ol xHE 8.17

5080

LHo

Kio
Rr

rr
1o

OIXHE 8.17 20

5079

Kio
Rr

rr
10

OIxHEH 8.17 20

5078

Kio

OIxHEH 8.17 20

5077

Kio
Rr

il

Ixpe 8.17

5076

Kio
Rr

rt
K0

40

OIxHEH 8.17

5075

Kio
Rr

rk
X0
O

Ol xHE 8.17 20

5074

Kio
Rr

rt
Kio

OIxHEH 8.17 50

5073

Kto

40

1pka 8.17

5072

Kto
Rr

I 8.17 20

5071

Kio
Rr

Ol xHE 8.17 30

5070



5068
5067
5066
5065
5064
5063
5062

5061

5060

5059

5058

5057

5056

5055

5054

5053

5052

5051

5050

5049

5048

5047

5046

5045

5044

5043

5042

5041

5040

5039

5038

5037

1pka

Ol xHE

1pk

OIXHE

Ixpe

OIXHEH

OIxpe

OIXHEH

OIXHEH

Ixne

OIxH

Ixne

OIxHe

Ixpe

Ol XHE

Ixpe

ipyll

Ixpe

Ipulsl

1pka

OIXHE

OIxpe

OIxHE

1pkad

OIxHEH

OIxHe

OIXHEH

OIxHe

OIxne

OixHe

I

@©

P
10
=)

i

20

70

30

50

50

70

60

50

30

30

20

20

20

30

10

20

20

30

20

30

30

60

60

20

60

10
0x
A4

10
0x
14

O
1

=
10
14

=
il
RN

Ot

14

O
1

>

14

O
1

O
14

10
1

10
0x
44

o4

O
4

fern

14

1 43
= R

= o

14

SIEAL 5
=
HEH
oSHEAL 5

& 47374

X 5047

[N 4944

X 5031

& 4848

[ 5039

& 49154

O‘-IESP_{

==

X 49144

[H& 5056H

[H& 5053

12
ot
B

12
1o
Il

12
Lo
F

12
1o
Il

12
1o
A

& 5014

TN 4482

gicl
al
=
rk
ru

picl
a
!
r
I

gl
al
>
rk
ru

picl
a
!
T
m

ok
al
>
rt
r

picl
al
!
re
I'E

Jt?l
5
I
r

A S

SHXIT; 2

H SXIT} 2k

=
Ot

=
Of4

=
Ot

=
Of4

=
Ot

73 5
ZXIAFS
72 5
73 5
73 5
73 5
7l 5
73 5
Al 5
73 5
#l 5
Al 5
LIRS
7 5
=EIES
#2
LIRS
73
RIS
72 5
73 5
72 5
73 5
72
73 5
7l 5
73 5
Al 5
7 5
Al 5
=TS
73 5
73 5

1
o
Ot



5036

thx

5035

5034

5033

5032

5031

5030

5029

5028

5027

5026

5025

5024

5023

5022

5021

5020

5019

5018

5017

5016

5015

5014

5013

5012

5011

5010

5009

5008

5007

5006

5005

5004

5003

o I oo

©

70

20

30

40

10

40

60

10

50

30

40

30

40

20

50

20

30

50

40

20

30

40

40

30

20

50

20

50

30

30

50

14

10
4

10
0x
44

10
4

O
14

Ot
R

>

44

40
RN

o4
14

44

O
1

0
1

O
1

o1
1

Ot
14

=
il
R

=
il
1

10
0%
44

=
]
1

MZE XX} 2
PSE=
24

EEEIUE=

E

Jm

=

[H& 5018H =X}

rd

pirs

[H& 50018 =Xt 2

12
Tor

FRA

s

=
S

B 23 =TT 23

o

ol
o
1o}
o1
Jﬁ
_>-',_
e
r

ru

[H& 50128 =TIt 23

i

[H& 50074 2HXITt

[

rt

& 49834 =tXIT} 2+

HH

I
o

o1

i
o

Ot

I
o

o1

1
o

Ot

i
o

o1

e
o

Ot

1M
o

o1

in
o

Ot

1M
o

Of

1
o

o4

1M
o

0t

i
o

o4

i
o

Ot

I
o

o4

i
o

Ot

I
o

o4

i
o

Ot

I
o

o4

i
o

Ot

I
o

o1

i
o

Ot

i
o

o1

ik
o

Ot

i
o

o1

I
o

Ot

i
o

o1

1
o

o4

1M
o

0t

in
o

o4

1M
o

0t

i
o

o4



0G| BIWE | @MY O 1233% T 00T} 2 B!

5001 1pkad 8.15 30 =3 RIS

I
o
Ot

(35242) HH S| M EAZ 100 (EAHE)
(c) DAEJEON METROPOLITAN CITY. ALL RIGHTS RESERVED.

SU4H 1339
B4 042) 120




	대전광역시 코로나19 현황
	확진자 현황


